16. #HE

(1) BRRTERMERR

XK £ 8 &

—Eﬁﬁﬁﬁﬁl%ﬂ
*

\\>ﬁg

X o X f—

i ¥ il
I_% 175 $
—fi B E OB =
—— i SR PE B ke
X 15 Hh
Ak E B
— 2 X b\ Y
% %

& ik

i

LT

#Wom o<

+t & M

~ )
o

=
g mg

=113
=

(LR TR A 3 AT S )

(i 4 % 7 77 ) =

oo W
Lg %

— 1 [} kMR R
=T
L O =
— B R—— YRR
v 27 A R—EYRE
_|] X K - K @ B—HY%E
i ¥ Rk MR, SCELR ISR R SRR
2l e *
— A * R —— AR R Gra R S R R
— % b2t —HURE
— it B4 R YRR
—— A B - U A 3R 5 R —— R R D O T
—fa B O B R—NURRERE
— % F O R B—HURE
—F TR 2 e i R — LR
——— SRR R SR Y —— YRR
T K E A KRR, KRR, T2 =T 4R, [E A SR, HIULRE,

——< 5L oM #%
— X "

— FRERY—ER
—F A T X &

-

— E bW A

—EEEIJ b 2 T

— 3 b R OB

—E ¥ R B
&l %

KEFBHR) EQ) ARKRAE A Paa=T 1y —

R——HMRE

R—— BB R, IRBLR SRR

A —— BRIBR R EAR S fR R
—HARE

R— FH CHRR YRR, FUOREE 2 —0Q)

—HURE
A YRR
*=

kAR

— AR

R—— SRR RSB 2 —
*

(AT R A B AT SR )

— Ak A —— MRS IR, R LR LR M AR R
st Ak RR——HURE
% 2
iR R BR—INRE
F oA A R— SRR RSB R
% *
;% ;ﬁ_ FEFSHR, I - EERAR, A ITAR AR, NP R
R #E AR—NRE
% *
(AL = 8 4k 75 A)
T i —— AR

— [E R R R R

—
WY
B R
% i F
—F 5 50 i

— it X R i

— £

— 1k £

— W xR

— i B F

— & ZR
4 [

I~

n

52

AR —— OB LR, G AR AR R PRBREHR , R3] lim 7 R AR

BRI (RIRHR, 1545
W HIRR e s —
W—— KRR
K R SRR 4 —
LN SV PN
— IR

Fr—— AR VEELR Y LR ) | [T i B

R—— AR R
——HMRE
e EE AR

R—— MR
—HARE
AR

— AR

R—— YRR, EARHE T

AR —— YRR A A ST
MR R



/ﬁ—EzééA&UEX% I
BEEES — HEE ABRELTHRNE ——— JiF % PR —— [ AR AR HUR, AR AR SR R
— bE: P —— LR RS AR B ERR AR R R
B OE R F R —REEESRRETHERRAURE RERE03)
—E%E o R— R B E R B RS
BH W ¥ WY
—% F X B fH—HE4%RE
EEERMEEY Tk JE ¥ W B LSRR R
L E R — Y B —— MRE
— R % i —— SRR AR R EAE, A A
WEREFHEEE S BEEMEES
[ R < | A % & HURE
X % = X &% = /9 F—— E5R GEEAER SR E
TN
(2) B8
7. BB CEDN
woH B — %
- . wr | - i | e
W e ) N . \ \ _ | B . Y IR
3 B & | wE | e | EE | EF | R | Ee | sl st HRE | s | B W|E F
i
@ o ®2) | (12) | (50) @ an| @] O o) ®)
e 1,614 | 812| 802 21 65| 300| 632 363 72 36 17 50 2 53 3
— x| 67| 12| 4b) ™1 an @3) | O (1)
BHRNRE | 1, 546 806 740 21 65| 300| 623 361 72 36 16 50 2 0 0
Y (5) (5) (5)
FaTEAE] 68 6 62 0 0 0 9 2 0 0 1 0 0 53 3
@ () 1IBERIRES - Nl - TEE NERR
MBI 28T,
PRSI, YHEEG LB AL
A . R BRI E 2L (HAT = )
FOpE 20 21 22 23 24
2 1,622 1,609 1,602 1, 602 1,603
5 870 852 839 830 818
= 752 757 763 772 785
() BRAES - RES L&, N
. RER BRI E L CEUN
G N =| 20 FEAM 20~29 7% 30~39 5% 40~49 7% 50~59 ik 60~69 ik
ANE& (N 1,603 0 330 446 438 389 0
AL (%) 100. 0 0 20.5 27.8 27.3 24.2 0
) BRREE - NESLE SRS 40.23 % N

53



. ERLER
N . - Tk B 3 N B - Tk B 3
i A Z4 £ % e ) = 44 ik % % %4 R G =
= |demi YRR <4> 11 12 o T IR o 5 » 4 1
[ AR <5 9 8 1 sk FEAEAR BLLR 5 3 2
w e <7 2m[nsrE o O 1 O Al R 0 0 0
B Ry 1 1 0 (&) (1 10) 1) 7 3
il NS (1) 39 30 (1) 9 v it AR R HYRE <4 29 13 16
WX - mmE [EURE W (1 16 il 1 5 AR [ENERE 6 @ 3 @ 15l @ 19
BB 12 11 1 HYERE <3 1 22 9] (1 13
R SCELR 5 50 (1) 0 i S A R RSB AE 21 8 13
HAYZEE <D 1 1 0 m (G (1) 43 17| (1) 26
(G 1) 18 17l 1 JiREEES 10 7 3
N3 8 6 2 Ik - EHAR 6 3 3
R FaH-AE IR @ 9 3l @ ¢ FafH R 6 3 3
bz HYRE <2 3) 14 @ 100 (1) 4 PRAERR FHFAR 8 4 4
Gh G) 31 @ 19 B 12 HMEE 10> 76 57 19
REERRR HYLRE <3 13 11 2 4% 2 2 0
il aX i HMLRER <5 21 16 5 [Gip) 108 76 32
HMEE <D 3 1 2 AEVE R R HAERE QD 4 3 1
N - BtcseR s | B4 P 5 4 1 3 # N @) 228] @ 131] @ 97
G 7 2 5| R e YRR < 14 8 6
=l /N EE (1) 106[ (20 76| (5) 30 FEBIR n 7 3l () 4
o lfaa i [HRARE < 7 6 1 AR 11 3 8
| - ] — bl I
1522 A HEERR [ FH Y 1R 4 3 1 - GEHMR 14 5 9
g N FE 18 16 2 ERRERRR % W i AR 6 3 3
--------- ] e et 3 1 2 e 015 i L IR 9 2 7
NS (1) 127 (@ 93] (5) 34 MR E<D @ o @ 0 0
X X AR 7 5 of ke G (3) 56 (2) 20| (1) 36
X Bt 3% £ 1 5 ol ) 3 HEEE A2 1 38l (1 22 16
a3 a=F (1% 4 1 3 AETE T AR it 2 — 3 0 3
[E R 9 3 6 GG 4| 1 22 19
BRI 2 — 2 0 2 FRAE T B R AU LR <> 3) 17 71 3) 10
et " 2 0 2 Rl — B R SR E <10 (31 4 (27
% " 2 1 1 WA R -] (D 9 3l (1
N " 2 2 0 (G (2) 40 71 @ 33
- e " 2 0 2 il /NER 9 168 (3) 64| 6) 104
PRk EOM ” 2 2 ol & - HYZE 4> 18 10 8
TE B X RS T 9 5 4 BRBE S WO 3 1 2
R X RS AT 8 3 5 5 G 21 11 10|
e X R F S T W 8l 1 3 5 Y Y 2 ViR [ R R <3 m 12| @ 6 50 6
mEKREEThaE] (1) 5 2l (1 3 iG] EHR 5 3 2
AL R ARSI 5y 9 7 2 st im e g | TESERR 80 77 3
B R R A 3 2 | w PR e 17 16 |
BHaacitvh- 3 2 1 G 102 96 6
B Gh 3) 82| (1) 40| (2 42 il /NER (1) 135 (20 113] (B) 22
< b Lo#ER[HYEE <2 6 2 O |EsriE R [HHMEE (1 12 ol 1) 3
BB IR 14 6 8 ] FhHo DR [HHMEE 3D @ 8l W 5 3
s FRBILR (1 o7 12 1 1l O [HIREgERR [HMRE 5> 9 6 3
MR <D 1 1 0 < TR HURERE <6> 22 16 6
Gt (1) 42 19] (1) 23 n [EX=h HYRE < 15 10 5
BN AR 1 6 4 @ 2 bl NEE 2 66l (1) 48] (1) 20
. e B HE B AR 14 10 4 T i [EURE 2 13 of 2 3
HYLR R 0 0 0 JH B PR HYRE <5> 1 19 I O
Gh 1 20 14l (1) HYRE <6> 25 21 4
PR ERY— 2 [ R R B> 4) 60 21] (4 39 A TR TARFEEI 12 12 0
T SRR 5 3 2 (Gh) 37 33 4
MR <D (1 11 2| (1) 9 H HMERE B> 15 11 4
FBH CRER |enreozmame. 5— 2 0 2 FNFAE 2N R R T 4 4 0
AARRT &b FEERIBE ¥ — 6 0 6 Gt 19 15 4
Gty (1) 24 5 (1) 19 B /NEE (3) 88 73] 3) 15
ARV HE R FMLRE <2 7 5 2 N EE ) 154f (1) 119] ) 35
il N 10) 241] (1) 106] (9 i3s|EarEmmE] 2k IR 18 7 11
X [l @b mEE [ R E <3 10 7 3
& ez i MR RE 2> 9 4 5
P[RR [RURE G 24 9 15
ES HMEE <4 15 11 4
Bl |BDLER S LB - 3 3 0
b Gh 18 14 4
il i 61 34 27

54




E) & EIE, MAREHE LR OMBERKICE EL T2,

MBI IRRA AR RORBEEIL, BEEREBEHRICF LL TS,

HEZARNERERORERIC, R EBALLRERITEER0,
O 13 IRIE, wEkeikad, BIUARER. TREMRE

E A 53 E—%E - o 2l A 573
A 124 7 7 = LR - R4 K 124 T =
FEES R 7 NERMENEN B HRIX M SUEE
R 7 R R R 4 2 2
SRS R PR R 5 FESR 3 2 1
HYRE 0 LR 1 0 1
<§|‘> BRI A —P AR AR — VL5 — 7 5 2
PR 9 AR M @ o of 1 o
PR R 1R 5 TR EVA A R 1 0 1
N TSR B RR 1R 3 —HERLAME 1 0 1
R YRR 7 AL 1 0 1
(GiD) EIE 1 0 1
PRE LR it 1) 19 of (1 10
PRBEFRLR thamabE AN AR
HERE <2 o A IR 3 3 0
WAL E R 1) (1) VLR 2 1 1
EIRE R 1) (1) T B 0 0 0
B RERE (1) 1 SN ¥ 0 0 0
- TR AR ®) ®) - & Ui 0 0 0
REEER o mm M ) VLR HADSAS R 0 0 0
B R ERE A A 0 0 0
=R ERE (1) (1 I WA 0 0 0
AR B R Gh 2 1 1
W RE R 1) 1) Rl o — sk | SR 0 0 0
AN S =N Rl s — s | SRR 1 1 0
S| (GEH 9 (9) s A - 5= 6 | SR 0 0 0
B HH R R A — S | AR 0 0 0
S B SR [=gLilE 0 0 0
*E%H% e N o, NE A =3 =
B R AR E NAEALAE 0 0 0
P BANEME v H — |4 F % ANEALEE 0 0 0
B R AR <D = N fELEE 0 0 0
BE Y GhH 0 0 0
ARG Z E b T NT ARRHA |24 0 0 0
/N EE (9) 9) EZYN il B 0 0 0
HMEE <3 s 6 5 1
A JEFE AR FE A offt&fEaE N AHREOIX S kS
(GiD) — [2:# 1 0
TAE - AR— VIR [HYRE <3 (1) (1) s 0
HLEE <4 ) &) NHERETEN BEREX A= AT % —
. AR I A — [ = 0
ORI X A N FE 0
G 2 2 thEmabE N AR SEA WSS
N (3) (3) JEHAR 1
N (12) 5 (12) HER WIS AR 1
TN HEFIBERE LR 0
R /N R 2
Syt (5) (5) NEMENEN B HIXPEEIRIL 3R
G ®) ©) - B3 1
B2 B G5 [ G ks <2 ) 5 P FEEMHE v & — 0
ERIE] R E <3 2 /N R ]
iR 2 & i (1) (1)51'%4
Aok HEERAELR 3 PNES
SR 1015 0
(GH) 5
o i 1,580
B e k¥ &
IR Tik A




